Ratio
P
N

[ pull of goverp parameter
107

1072

=
S

&
TTTT]

0.8

10—86—420246810

[ pull of @parameter |—_

107}

1072

1073

— T e”es 0.07
_ _____ ___ onstam %8$
- o
o .S?rpa. -

E 5 S g
i S 0

Lor?sgtcam Bgléz
Y proecbeed W
L
10 -8 -6 —4 2 0 2 4 6 8 10

[ pull of dxy parameter

Ratio

107}

1072

10™

1.2

1.

iy

o
©

O R = R | R R N T

B

[ pull of 6 parameter |

107}

1072

1073

10

Ratio

[y
IRRRRNRERE}

i
=P
o .

[ pull of dz parameter

107}

1072

Jany

S
IS
I

Ratio

o
ko)

|
=

0-8 6 -4 20 2 4 6 8§10



	Contents
	Page 1


